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Feature Engineering — {4l B2~ MM

Day

Aell7|=

last_sell_day / last_buy_day

num_sell_day / num_buy_day
last_sell_item_amount / last_buy_item_amount
last_sell_item_price / last_buy_item_price

last_sell_item_type / last_buy_item_type

num_sell / num_buy

num_sell_character /num_buy_character
num_trade_server

sell_item_amount / buy_item_amount
sell_item_price / buy_item_price

sell_time / buy_time
sell_type / buy_type

common_item_sell / common_item_buy

TOH/L0HE Tt OFX|2 s &
ToH /7 0HE TS U(day) 4=

ORX[2} 2E Ll Ot0["y o/ 0HZ
OrX[2} &S 2O Ot0|Ry /10 7

OrX[2} 2s Lol THoH/1o4et Ofo |’ BF

IO

IOH /L0 RISt FH2Ef 4

—

= L-O L-

el S Zllish A 4

4 O}

JER el

B 0102 THOH/0H 74

THOH/=LO00 7 74 B0 LA SE AlZHhour);

TOH/=100 Al 7+ B20] &Eet

(1

7t

el &
Puety /0 JHRIEE /-1 BERER

JExb OF
o LS

O'I'I')

O] ZOH/<*0Het OF0I 2| BF

(-1

oro
Ls O

)

P H=SEX]|

ore

Ls O

)



(=

Feature Engineering — Flattened Data

2> Flattened Data
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Feature Selection

2> Feature Selection
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Preprocessing— Scaling

2> Robust Scaling
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> First approach,

Deep Learning Model

>> Second approach,

Tree—based Model
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2 23E - Deep Learning Model

>> DNN (Deep Neural Network)

sCore

Deep Neural Network 3 layers
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PHEZE - Tree-based Model

>»> Second approach,

Tree—based Model
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DEE - Pipeline

>> Modeling Pipeline
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2 23E - Hyper—-Parameter Tuning

2> Hyper Parameter Tuning : Bayesian Opitimization
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2 — survival_time prediction

>> 2HE 1. survival_time regression
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>> 2HE 1. survival_time prediction : XGBoost
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SHEE — amount_spent prediction

>> 2E 2 amount_spent regression
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>> 2H 2 amount_spent regression : LightGBM
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=& — amount_spent prediction

>> Hd 2 amount_spent regression : Scaling
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>> 33 0|= / EHE classification
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>> B4 12 / 21Z classification
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E2E - amount_spent prediction
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Reflect on score function

2> amount_spent adjusting by score function
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2El2l — Reflect on score function

2> amount_spent adjusting by score function

/ﬁ Hﬂ/ /% O/é/L/ /;.é’ 0/5—//

pred_df2['anount _spent '] .map( lambda x:|scalefx if x >= and x {=|-:E-i ||E|SE )

19 th scale: 3.0 / 32 th amount_spent threshold: 4.2 /9 th amount_spent ceilings: 15,528607821434065
{ Score is 7799.522122916803

The best scale, threshold and ceiling are: (scale: 3.0 / threshold: 1.6 / ceiling: 15.528607821434065)

(7931, 940652078404,
L (scale: 3.0 / threshold: 1.6 / ceiling: 15.528607821434065) )]
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AMZEM - LIME(Local Interpretable Model-Agnostic Explanation)
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S 2N - LIME(Local Interpretable Model-Agnostic Explanation)
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AEEA - LIME(Local Interpretable Model-Agnostic Explanation)

=) &4 survival yn = 1 2! observationE 12 058t &

Prediction probabilities

Feature Value

num_of_days

pledge_days

sum_of_npckill
sum_of_playtime

level_up_rate

0 1
foo: 27 <num_of_days<=28

02 25<pledge_days<=28
sum_of_npckill<=0.98 .|
001 sum_of_playtime>77.87

00t level_up_rate<=0

('27.00 < num_of_days <= 28.00', 0.020877388057330328)
('25.00 < pledge_days <= 28.00', 0.017796451557984077)
(‘'sum_of_npckill <= 0.98', -0.01758699842664315)
(‘'sum_of_playtime > 77.87', 0.0122524491067536)
('level_up_rate <= 0.00', 0.01159283103090177)
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) &8 survival yn = 1 2/ observationS 12 05t Z2

Prediction probabilities

Feature Value

num_of_days
pledge_days

sum_of_npckill

sum_of_playtime

level_up_rate

0 1
foo: 27 <num_of_days<=28

225 <pledge_days<=28

001 sum_of_playtime>77.87

sum_of_npckill<=0.98 .|

00t level_up_rate<=0

('sum_of npck|II <= 0.98, 001758699842664315)
('sum_of_playtime > 77.87', 0.0122524491067536)
('level_up_rate <= 0.00', 0.01159283103090177)
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AMZEA - LIME(Local Interpretable Model-Agnostic Explanation)

=) &H amount yn = 0 2! observationS 022 0= 5+ ZL

- 0 1
Prediction probabilities
o 0.7 pay_day_cnt<=0 oos
1 |0.03 sum_amount_spent<=0 oos

sum_of_fishing<=0 g,

Feature Value non_combat_play_time_sum>0.11 0
total_max_level<=14 .,

pay_day_cnt

sum_amount_spent

N (‘pay_day_cnt <= 0.00', -0.07904589126085286)

sum_of_fishing : ('sum_amount_spent <= 0.00', -0.060467484029733926)
non_cgmbat_pla}.r_tfme_sum i ('sum_of_fishing <= 0.00', -003727603810009532)
('non_combat_play_time_sum > 0.11', -0.016549714318445274)
total max level 2. (‘total_max_level <= 14.00', -0.016257129785629695)
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=) &K amount yn = 0 2/ observationS 0°P= G5! L

Prediction probabilities

Feature Value

pay_day_cnt
sum_amount_spent

sum_of _fishing

non_combat_play_time_sum

total_max_level

0 1

pay_day_cnt<=0 oo
sum_amount_spent<=0 oos
sum_of_fishing<=0 ;..

non_combat_play_time_sum>0.11 0

(‘pay_day_cnt <= 0.00', -0.07904589126085286)
(‘'sum_amount_spent <= 0.00', -0.060467484029733926)
(sum of flshlng <= OOO 003727603810009532)

(‘total_max_ IeveI <= 14. OO -0.016257129785629695)




01
02
03
04

MZEA - LIME(Local Interpretable Model-Agnostic Explanation)

=712] 22O] HE=SE E=7t

0.35

0.30

0.25

=
fud
=

amount_spent
=
—y
&n

003

0.00

1 2 3 4 5 6 7 8 9 1 1M 12 13 14 15 16 17
total_max_level



MZEA - LIME(Local Interpretable Model-Agnostic Explanation)

=712 2f|Ho| H{=HE H=7F
40~447 &
7\

0.35

0.30
25~2924 &

(m)

=
]
n

=
fud
=

amount_spent
=
—y
&n

003

0.00

1 2 3 4 5 6 7 8 9 1 1M 12 13 14 15 16 17
total_max_level



01
02
03
04

MZEA - LIME(Local Interpretable Model-Agnostic Explanation)

atm) 0f+

&

survival_time
& E

&

D0 01 02 03 04 05 06 07 08 09 10
def_ratio



01
02
03
04

MZEA - LIME(Local Interpretable Model-Agnostic Explanation)

atm) 0f+

&

survival_time
& E

&

oo 01

02 03

04 05
def_ratio

06 OF

I
g 0% 10



==
o
Ol
=

=
H
|
or
g
b
1
10
=5
40
©

PK Q15101 A2 Z2{0]0f XIFo| 4
Q15101 0|3t Z20|0IS0| B4



AMZEA - LIME(Local Interpretable Model-Agnostic Explanation)

7101 O] =|Ui=tS Feh Y

4 710|=af0l JHm

S W QX0 i3t U T2 M

atm| 0f2 7K



2019 BigContest

Thank you



